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P–7301 

M. A. (Previous) (ATKT)  

 Term End Examination, June-July, 2020-21 

ECONOMICS 

Paper  First 

¼vkfFkZd fl)kUr % miHkksDrk O;ogkj fl)kUr½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- ek¡x oØ ds fdlh fcUnq ij ek¡x dh yksp Kkr djus dh 

fof/k D;k gS \ 

What is the method to find the elasticity of demand at 

some point on demand curve ? 

2- cktkj esa oLrq dh fLFkfr ds vk/kkj ij ek¡x iwokZuqeku yxk;k 

tk ldrk gSA  ¼lgh@xyr½ 

The demand forecast can be made based on the 

position of the commodity in the market. (True/False) 

3- ifjofrZr vuqikrksa ds fu;e esa fdrus pj.k gksrs gSa \ 

How many stages are there in law of variable 

proportions ? 

4- fdlh oLrq ds mRiknu esa fd;k x;k O;; 
------------

 dgykrk gSA 

The expenditure incurred in the production of a 

commodity is called.......... : 

5- 
------------

 fdlh oLrq ds cktkj dh og fLFkfr gS ftlesa mRikndksa 

dh la[;k de jgrh gS vkSj blesa vklikl esa izfr;ksfxrk 

gksrh gSA 

...........is the condition of a commodity market in 

which the number of producers is small and there is 

competition around it. 
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6- yEc foy; ds izdkj D;k gSa \ 

What are the types of vertical integration ? 

7- ftl cktkj esa oLrq dh lewph iwfrZ ,d gh QeZ ;k foØsrk 

}kjk fu;af=r gks mls 
------------

 dgk tkrk gSA 

The market in which the entire supply of goods is 

controlled by a single firm or seller is called.......... . 

8- eki izfr yksp 
------------

 }kjk lq>k;k x;k gSA 

Cross elasticity of demand is suggested by.......... . 

[k.M&c 

(Section—B) 

9- csykspnkj ek¡x D;k gS \ 

What is inelastic demand ? 

10- ek¡x iwokZuqeku dks ifjHkkf”kr dhft,A 

Define demand forecasting. 

11- iw.kZ izfr;ksfxrk dk vFkZ le>k,A 

State the meaning of perfect competition. 

12- ykHk vf/kdredj.k ls D;k vk’k; gS \ 

What is profit maximization ? 

13- vUrfuZfgr ykxr D;k gS \ 

What is implicit cost ? 

14- dher foHksnhdj.k ds Lo:i Li”V dhft,A 

Explain the forms of price discrimination. 
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[k.M&l 

(Section—C) 

15- izdfVr ilan fo’ys”k.k ij fVIi.kh fyf[k;sA 

Write a note on Revealed preference analysis. 

16- fjdkMksZ dk ykxr fl)kUr D;k gS \ 

What is Ricardo’s rent theory ? 

17- ,dkf/kdkfjd izfr;ksfxrk dh fo’ks”krk,¡ crkb,A 

State the characteristics of monopolistic competition. 

18- foy; vkSj xzg.k ds chp vUrj Li”V dhft,A 

Explain the difference between merger and takeover. 

[k.M&n 

(Section—D) 

19- ek¡x dh yksp dh eki gsrq izeq[k fof/k;ksa dks foLr`r :i esa 

le>kb,A 

Explain in detail important methods for measuring 

elasticity of demand. 

20- ,dkf/kdkj esa ek¡x o iwfrZ oØ dks foLr`r :i esa le>kb,A 

Explain in detail demand and supply curve under 

monopoly. 

21- lkoZtfud m|ksxksa dh fo’ks”krk,¡ D;k gSa \ foLr`r o.kZu 

dhft,A 

What are the characteristics of public sector firms ? 

Describe in detail. 
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22- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k;s % 

 ¼v½ dqy fLFkj ykxr 

 ¼c½ vkSlr ykxr 

 ¼l½ lhekUr ykxrA 

Write short notes on the following : 

(a) Total fixed cost 

(b) Average cost 

(c) Marginal cost. 

[k.M&b 

(Section—E) 

23- ifjorZu’khy vuqikrksa ds fu;e dks mi;qDr mnkgj.kksa lfgr 

le>kb,A 

Explain law of variables proportion with suitable 

examples. 

24- iw.kZ izfr;ksfxrk ds vUrxZr vYidky esa QeZ dk lUrqyu 

dSls gksrk gS \ le>kb;sA 

Explain about the equilibrium of firm in short-run 

under perfect competition. 
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P–7302 

M. A. (Previous) (ATKT) 

 Term End Examination, June-July, 2020-21 

ECONOMICS 

Paper  Second 

¼vkfFkZd fl)kUr & jk”Vªh; vk;½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- jk”Vªh; vk; dks ekius dh 
------------

 fof/k;k¡ gSaA 

¼v½ 3 

¼c½ 4 

¼l½ 5 

¼n½ 6 

There are..........methods of measuring national  

income. 

(a) 3 

(b) 4 

(c) 5 

(d) 6 

2- fuos’k ek¡x C;kt dh nj dk Qyu gS % 

¼v½ _.kkRed 

¼c½ /kukRed 

¼l½ leku 

¼n½ buesa ls dksbZ ugha 
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Investment demand is the function of the rate of 

interest : 

(a) Negative 

(b) Positive 

(c) Equal 

(d) None of these 

3- Hkqxrku lUrqyu nwj djus dh fof/k gS % 

¼v½ fu;kZr dks izksRlkgu 

¼c½ vk;kr esa deh 

¼l½ voewY;u 

¼n½ ;s lHkh 

The method of removing the balance of payment : 

(a) Export promotion 

(b) Import reduction 

(c) Devaluation 

(d) All of these 

4- ldy jk”Vªh; mRikn dk izeq[k vax gS % 

¼v½ vk; 

¼c½ O;; 

¼l½ miHkksx 

¼n½ ;s lHkh 

The major component of gross national income is : 

(a) Income 

(b) Expenditure 

(c) Consumption 

(d) All of these 
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5- eqæk LQhfr dk vFkZ ewY;ksa esa o`f) gS % 

¼v½ lrr~ 

¼c½ vfuf’pr 

¼l½ ¼v½ o ¼c½ nksuksa 

¼n½ buesa ls dksbZ ugha 

Inflation means increase in prices : 

(a) Continuous 

(b) Uncertain 

(c) Both (a) and (b) 

(d) None of these 

6- lk[k fu;a=.k ds midj.k gSa % 

¼v½ cSad nj 

¼c½ [kqys cktkj dh fØ;k;sa 

¼l½ uxn dks”kkuqikr esa ifjorZu 

¼n½ ;s lHkh 

Credit control equipments are : 

(a) Bank rate 

(b) Open market activities 

(c) Change in cash balance ratio 

(d) All of these 

7- eanh ds nkSj esa ekSfæd uhfr dh n’kk D;k gksxh \ 

¼v½ vlQy 

¼c½ lQy 

¼l½ leku 

¼n½ ;s lHkh 
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What will be the condition of monetary policy during 

recession ? 

(a) Fail 

(b) Successful 

(c) Same 

(d) All of these 

8- vkfFkZd fodkl ,d 
---------------------- 

izfØ;k gSA 

¼v½ nh?kZdkfyd 

¼c½ y?kqdkfyd 

¼l½ vfr y?kqdky 

¼n½ ;s lHkh 

Economic development is a .......... process. 

(a) Long term 

(b) Short term 

(c) Very short term 

(d) All of these 

[k.M&c 

(Section—B) 

9- ewY; o`f) ls vki D;k le>rs gSa \ 

What do you understand by price increase ? 

10- Hkqxrku ‘ks”k D;k gS \ 

What is balance of payment ? 

11- ekSfæd etnwjh ls D;k vfHkizk; gS \ 

What do you mean by monetory wages ? 

12- }U}kRed HkkSfrdokn D;k gS \ 

What is dialectical materialism ? 
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13- Lo.kZ ;qx ¼voLFkk½ D;k gS \ 

What is the Golden Age ? 

14- ekSfæd uhfr ds dksbZ nks mís’; crkb;sA 

Discuss any two objectives of monetary policy. 

[k.M&l 

(Section—C) 

15- xq.kd izfØ;k ls vki D;k le>rs gSa \ 

What do you understand by the multiplier process ? 

16- Hkqxrku ‘ks”k dh lajpuk dks le>kb;sA 

Explain the structure of balance of payment. 

17- ÝhMeSu ds vuqlkj] ßeqæk ek¡x fdu&fdu dkj.kksa ls izHkkfor 

gksrh gS \Þ 

According to Freedman, “What are the factors which 

affect the demand of money ?” 

18- fodkl’khy ns’kksa esa ekDlZ ekWMy dh mi;ksfxrk dk o.kZu 

dhft;sA 

Describe the utility of the Marx model in developing 

countries. 

[k.M&n 

(Section—D) 

19- dhUl ds rjyrk ilUnxh fl)kUr dk vkykspukRed ijh{k.k 

dhft;sA 

Critically examine the Keynes’s liquidity preference 

theory. 
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20- fQ’kj ds eqæk ifjek.k fl)kUr dh vkykspukRed O;k[;k 

dhft;sA 

Critically examine the Fisher’s equation of quantity 

theory of money. 

21- dkYMksj ds O;kikj pØ fl)kUr dh O;k[;k dhft;sA 

Explain the Kaldor’s trade cycle theory. 

22- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k;s& 

 (i) egkxq.kd 

 (ii) IS ,oa LM oØ dh O;qRifŸkA 

 Write short notes on the following : 

 (i) Supermultiplier 

 (ii) Derivation of IS and LM curves 

[k.M&b 

(Section—E) 

23- ek¡x izsfjr ,oa ykxr izsfjr eqæk LQhfr esa vUrj Li”V 

dhft;sA eqæk LQhfr dks fu;af=r djus ds fofo/k mik; D;k 

gSa \ 

Distinguish between demand pull and cost push 

inflation. What are the various methods to control 

inflation ? 

24- jktdks”kh; uhfr ls vki D;k le>rs gSa \ jktdks”kh; uhfr 

ds midj.kksa dh O;k[;k dhft;sA 

What do you mean by fiscal policy ? Explain the 

instruments of fiscal policy. 

P–7302   



 

 P. T. O.  

P–7303 

M. A. (Previous) (ATKT) 

 Term End Examination, June-July, 2020-21 

ECONOMICS 

Paper  Third 

¼lkoZtfud vFkZ’kkL=½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 
1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- jktdh; vk; ds lzksr D;k gSa \ 

What are the sources of Public Income ? 

2- jkT; ukxfjdksa dks dSls lqfo/kk,¡ iznku djrk gS \ 

How are the facilities given by state to citizens ? 

3- yksd p;u ls vki D;k le>rs gSa \ 

What do you mean by public selection ? 

4- lkoZtfud m|ksx D;k gS \ 

What is public industry ? 

5- djkjksi.k esa U;k; ds fl)kUr fyf[k;sA 

Write the theory of justice in Taxation. 

6- MRCS ls D;k vk’k; gS \ 

What do you mean by MRCS ? 

7- fuxe dj ds mís’; crkb;sA 

Explain the purpose of Corporation tax. 

8- ljdkj }kjk vkfFkZd lsok,¡ dSls iznku dh tkrh gSa \ 

How are economic services provided by government ? 
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[k.M&c 

(Section—B) 

9- jkT; dh vkfFkZd fØ;kvksa ls vki D;k le>rs gSa \ 

What do you understand by the state economic 

activities ? 

10- lkekftd ykHk ,oa ykxr ds eki dks le>kb;sA 

Explain the cost of measures and social profit. 

11- ldy fcØh ij dj ls vki D;k le>rs gSa \ 

What do you mean by tax on gross sales ? 

12- ctVh; ?kkVs ds izekiu ls vki D;k le>rs gSa \ 

What do you mean by budget deficit measures ? 

13- ykHk&izsfjr dher fl)kUr dks fyf[k;sA 

Write the profit oriented pricing principle. 

14- dj eqDr vk; dks Li”V dhft;sA 

Explain the exemptions from tax. 

[k.M&l 

(Section—C) 

15- lkekftd lhekUr mRikndrk dh dlkSVh dks le>kb;sA 

Explain the social marginal productivity criterion. 

16- fof’k”V dj ,oa ewY;kuqlkj dj dk lfoLrkj o.kZu dhft;sA 

Explain the details of Specific tax and Ad Valorem tax. 

17- miHkksDrk vfrjsd ij izHkko Li”V dhft;sA 

Explain the impact on consumer surfeits. 
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18- Hkkjr esa fuxe dj dh izeq[k fo’ks”krkvksa dk mYys[k dhft;sA 

Discuss the main major characteristics of corporation 

tax in India. 

[k.M&n 

(Section—D) 

19- pquko dlkSfV;ksa dh lfoLrkj O;k[;k dhft;sA 

Explain the detail of criteria of election. 

20- vk; ds lS)kfUrd izR;; dk lfoLrkj mYys[k dhft;sA 

Write the detail of theoretical concept of income. 

21- laLFkkfir fl)kUr dh foospuk dhft;sA 

Explain the founder theory. 

22- lkoZtfud _.k O;oLFkk dk mYys[k dhft;sA 

Write the methods of public debt redemption. 

[k.M&b 

(Section—E) 

23- vkfFkZd fØ;kvksa esa ljdkj dh Hkwfedk ij ys[k fyf[k;sA 

Write an essay on role of government in economic 

activities. 

24- djkikr ,oa dj foorZu ds fl)kUrksa dk ijh{k.k dhft;sA 

Explain the theory of shifting of tax and incidince of 

tax. 

 

P–7303   



 

 P. T. O.  

P–7304 

M. A. (Previous) (ATKT) 

 Term End Examination, June-July, 2020-21 

ECONOMICS 

Paper  Fourth 

¼ifjek.kkRed fof/k;k¡½ 

Time : Three Hours ]  [ Maximum Marks : 70 

   [ Minimum Pass Marks : 14 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M&v % iz’u Øekad 01 ls 08 rd vfr y?kq mŸkjh; iz’u gSaA 

lHkh iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy;s  

01 vad fu/kkZfjr gSA izR;sd iz’u dk mŸkj 1 ;k  

2 ‘kCnksa@1 okD; esa nhft;sA 

[k.M&c % iz’u Øekad 09 ls 14 rd v)Z y?kq mŸkjh; iz’u gSaA 

fdUgha pkj iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 1
2

2
 
vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj 

yxHkx 75 ‘kCnksa ;k vk/kk ist eas nhft;sA  

[k.M&l % iz’u Øekad 15 ls 18 rd y?kq mŸkjh; iz’u gSaA 

fdUgha rhu iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds 

fy, 05 vad fu/kkZfjr gaSA izR;sd iz’u dk mŸkj 

yxHkx 150 ‘kCnksa ;k ,d ist eas nhft;sA 
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[k.M&n % iz’u Øekad 19 ls 22 rd v)Z nh?kZ mŸkjh; iz’u gSaA 

fdUgha nks iz’uksa ds mŸkj nhft;sA izR;sd iz’u ds fy,  

10 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

300 ‘kCnksa ;k nks ist esa nhft;sA 

[k.M&b % iz’u Øekad 23 ,oa 24 nh?kZ mŸkjh; iz’u gSaA fdlh 

,d iz’u dk mŸkj nhft;sA izR;sd iz’u ds fy,  

17 vad fu/kkZfjr gSaA izR;sd iz’u dk mŸkj yxHkx  

600&750 ‘kCnksa ;k 04&05 ist eas nhft;sA 

Instructions for Candidate :  

Section–A : Question Nos. 01 to 08 are very short answer 

type questions. Attempt all questions. Each 

question carries 01 mark. Answer each of 

these questions in 1 or 2 words/1 sentence.  

Section–B : Question Nos. 09 to 14 are half short answer 

type questions. Attempt any four questions. 

Each question carries 1
2

2  marks. Answer each 

of these questions in about 75 words or half 

page. 

Section–C : Question Nos. 15 to 18 are short answer type 

questions. Attempt any three questions. Each 

question carries 05 marks. Answer each of 

these questions in about 150 words or one 

page.    

Section–D : Question Nos. 19 to 22 are half long answer 

type questions. Attempt any two questions. 

Each question carries 10 marks. Answer each 

of these questions in about 300 words or two 

pages.  
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Section–E : Question Nos. 23 and 24 are long answer type 

questions. Attempt any one question. Each 

question carries 17 marks. Answer each of 

these questions in about 600—750 words or 

04—05 pages. 

[k.M&v 

(Section—A) 

1- iwfrZ Qyu dks izHkkfor djus okys rRo gSa % 

¼v½ miHkksDrkvksa dh la[;k 

¼c½ miHkksDrkvksa dh vk; 

¼l½ vU; ijLij lEc) oLrqvksa dh dhersa 

¼n½ ;s lHkh 

The elements that affect the supply function are : 

(a) Number of consumers 

(b) Consumers’ income 

(c) Price of other related items 

(d) All of these 

2- vodyu ds fl)kUr ds vusd iz;ksx gSa % 

¼v½ vkfFkZd {ks= esa 

¼c½ /kkfeZd {ks= esa 

¼l½ jktuSfrd {ks= esa 

¼n½ buesa ls dksbZ ugha 

The theory of differential has several uses : 

(a) In economic sector 

(b) In religious area 

(c) In the political area 

(d) None of these 
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3- izks- fy;ksUrhQ us vkxr&fuxZr fo’ys”k.k ds ekWMy izLrqr 

fd;s gSa % 

¼v½ [kqyk ekWMy 

¼c½ cUn ekWMy 

¼l½ xR;kRed ekWMy 

¼n½ ;s lHkh 

Prof. Leontief has presented models of input-output 

analysis : 

(a) Open model 

(b) Close model 

(c) Dynamic model 

(d) All of these 

4- vk¡dM+s fdrus izdkj ds gksrs gSa \ 

¼v½ nks 

¼c½ pkj 

¼l½ rhu 

¼n½ ik¡p 

What are the types of data ? 

(a) Two 

(b) Four 

(c) Three 

(d) Five 

5- vPNs ek/; ds xq.k gksrs gSa % 

¼v½ fLFkjrk@Li”Vrk 
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¼c½ izfrfuf/kRo 

¼l½ ljyrk 

¼n½ ;s lHkh 

Merits of a good mean are : 

(a) Stability/Clarity 

(b) Representation 

(c) Simplicity 

(d) All of these 

6- fopj.k xq.kkad dk lw= gS % 

¼v½ 100
X

 

¼c½ 100
M

 

¼l½ 100
Z

 

¼n½ 
X

100  

Formula of variance coefficient is : 

(a) 100
X

 

(b) 100
M

 

(c) 100
Z

 

(d) 
X

100  
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7- fQ’kj dk vkn’kZ lwpdkad dk lw= gS % 

¼v½ 1 0 1 1
01

0 0 0 1

P 100
p q p q

p q p q
 

¼c½ 1 0 0 1
01

0 0 1 1

P 100
p q p q

p q p q
 

¼l½ 
1 0 1 0

01
0 0 1 1

P 100
p q q p

p q p q
 

¼n½ 1 01 1
01

0 1 0 0

P 100
p qp q

p q p q
 

Fisher’s ideal index number formula is : 

(a) 1 0 1 1
01

0 0 0 1

P 100
p q p q

p q p q
 

(b) 1 0 0 1
01

0 0 1 1

P 100
p q p q

p q p q
 

(c) 1 0 1 0
01

0 0 1 1

P 100
p q q p

p q p q
 

(d) 1 01 1
01

0 1 0 0

P 100
p qp q

p q p q
 

8- jk”Vªh; vk; dh x.kuk fof/k gS % 

¼v½ vk; fof/k 

¼c½ O;; fof/k 

¼l½ lkekftd ys[kkadu fof/k 

¼n½ ;s lHkh 
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Estimation methods of national income are : 

(a) Income method 

(b) Expenditure method 

(c) Social accounting method 

(d) All of these 

[k.M&c 

(Section—B) 

9- ;wyj izes; dks le>kb;sA 

Explain Euler’s theorem. 

10- fuEu Qyu dk pje ewY; Kkr dhft;s% 

y = – x
2 

+ 4x + 7 

Find the extreme value of the following function : 

y = – x
2 

+ 4x + 7 

11- jSf[kd izksxzkfeax ls vki D;k le>rs gSa \ 

What do you mean by linear programming ? 

12- lewg izfrp;u dh lhek,¡ fyf[k;sA 

Write the limitations of cluster sampling. 

13- cgqyd ls vki D;k le>rs gSa \ 

What do you mean by mode ? 

14- le; mRØkE;rk ijh{k.k dks le>kb;sA 

Explain time reversal test. 

[k.M&l 

(Section—C) 

15- 
dy

dx
 Kkr dhft;s % 

y = (3x
2 

+ 5x) (2x
2 

+ 3x)  
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Find 
dy

dx
 : 

y = (3x
2 

+ 5x) (2x
2 

+ 3x) 

16- lkjf.kd ds xq.k/keZ dks le>kb;sA 

Explain the properties of determinant. 

17- vH;a’k izfrp;u ls vki D;k le>rs gSa \ blds xq.k ,oa 

lhek,¡ crkb;sA 

What do you mean by Quota sampling ? Discuss its 

merits and limitations. 

18- fuEu vk¡dM+ksa dh lgk;rk ls fQ’kj vkn’kZ dher lwpdkad 

dh jpuk dhft;s % 

oLrq 
ewY; ek=k 

vk/kkj o”kZ pkyw o”kZ vk/kkj o”kZ pkyw o”kZ 

v 6 1 50 56 

c 2 2 100 120 

l 4 6 60 60 

n 10 12 30 64 

Construct with the help of the data given below 

Fisher’s ideal index number : 

Commodity 

Price Quantity 

Base 

year 

Current 

year 

Base 

year 

Current 

year 

A 6 1 50 56 

B 2 2 100 120 

C 4 6 60 60 

D 10 12 30 64 
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[k.M&n 

(Section—D) 

19- le:i Qyu ls vki D;k le>rs gSa \ lfoLrkj o.kZu 

dhft;sA 

What do you mean by Homogeneous Function ? 

Describe in detail. 

20- vkxr&fuxZr izfr:i dh lajpuk dks lfoLrkj o.kZu  

dhft;sA 

Describe in detail the structure of input-output  

model. 

21- laf{kIr fVIi.kh fyf[k;s % 

¼v½ ykWjsat oØ 

¼c½ fo”kerk 

Write short notes : 

(a) Lorenz curve 

(b) Skewness 

22- dky Js.kh fdls dgrs gSa \ blds dkSu&dkSu ls izeq[k 

la?kVd gSa \ dky Js.kh fo’ys”k.k dk egRo crkb;sA 

What is a time-series ? What are its main components ? 

Explain the importance of time-series analysis ? 
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[k.M&b 

(Section—E) 

23- fun’kZu D;k gS \ fun’kZu dh fofHkUu fof/k;ksa dk laf{kIr 

fooj.k nhft;sA 

What isk Sampling ? Discuss briefly the different 

methods of sampling. 

24- lglEcU/k vkSj izrhixeu esa vUrj Li”V dhft;sA vkfFkZd 

fo’ys”k.k esa budh mi;ksfxrk crkb;sA 

Differentiate between correlation and regression. 

Explain their utility in economic analysis. 
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